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y = arctg (tg x

2 + 1)
4) E%%($*"#+&, )+ F/%&!$G4G .4)/='?H y = (2x − 1)e2−2x

5) @+8&' )+ "&!$;/$ IJKLM0NO )+'P"(,Q$$ ' )+'G$),Q$$ ;)+9$)'> .4)/=''H

y = 4
x2 − 8x − 15

6) R(> .4)/='' y = − (x−2)2(x−6)2

16  !"#$%&'  "()"$ '%%($*"#+)'$ '  "%&!"'&,

-!+.'/0

121 31 2!4  + 3131 5+!'+)& 323

1) 6"%&+#'&, 47+#)$)'$ /+%+&$(,)"8 / /7'#"8 y = − 2
3

x
8+2

x4+1 # &"9/$ x0 = 10

2) :"/+;+&,< 9&" .4)/='> y = 1+x

1−x
4*"#($&#"!>$& 4!+#)$)'? y′ = 1+y

2

1+x2 < '

)+8&' ;)+9$)'$ y′(0)0
3) @+8&' ;)+9$)'$ *'..$!$)='+(+ .4)/='' ABCD # &"9/$ x0 = π/3 < $%('

y = cos x ln tg x − ln tg x

2
4) E%%($*"#+&, )+ F/%&!$G4G .4)/='?H y = 3 ln x

x−3 − 1
5) @+8&' )+ "&!$;/$ IJT<T O )+'P"(,Q$$ ' )+'G$),Q$$ ;)+9$)'> .4)/=''H

y = 3
√

2(x + 1)2(5 − x) − 2
6) R(> .4)/='' y = 16x3 + 12x2 − 5  !"#$%&'  "()"$ '%%($*"#+)'$ '  "%&!"'&,

-!+.'/0

121 31 2!4  + 3131 5+!'+)& 324

1) 6"%&+#'&, 47+#)$)'$ )"7G+(' / /7'#"8 y = 2x2 − 3x + 1 # &"9/$ x0 = 10
2) :"/+;+&,< 9&" .4)/='> y = x

cos x
4*"#($&#"!>$& 4!+#)$)'? y′ − ytg x = sec x

< ' )+8&' ;)+9$)'$ y′(π)0
3) @+8&' ;)+9$)'$ *'..$!$)='+(+ .4)/='' ABCD # &"9/$ x0 = π/4 < $%('

y = ln(cos2 x + 1 + cos4 x)
4) E%%($*"#+&, )+ F/%&!$G4G .4)/='?H y = (3 − x)ex−2

5) @+8&' )+ "&!$;/$ IJK<N O )+'P"(,Q$$ ' )+'G$),Q$$ ;)+9$)'> .4)/=''H

y = 3
√

2(x + 1)2(x − 2)
6) R(> .4)/='' y = (2x + 1)2(2x − 1)2  !"#$%&'  "()"$ '%%($*"#+)'$ '

 "%&!"'&, -!+.'/0

U



 ! "1 !#$%%& "131 '&#(&)* "25

1) +,-*&.(*/ $0&.)1)(1 ),02&3( 4 40(.,5 y = x +
√

x3
. *,641 x0 = 17

2) 8,4&9&*/: 6*, ;$)4<(= y = ex+x
2

+ 2ex
$>,.31*.,#=1* $#&.)1)(?

y′ − y = 2xex+x
2

: ( )&5*( 9)&61)(1 y′(0)7
3) @&5*( 9)&61)(1 >(;;1#1)<(&3& ;$)4<(( ABCD . *,641 x0 = e : 1-3(

y = x(sin lnx − cos ln x)

4) E--31>,.&*/ )& F4-*#12$2 ;$)4<(?G y = e
2x+4

2x+4
5) @&5*( )& ,*#1941 H I:J K )&(L,3/M11 ( )&(21)/M11 9)&61)(= ;$)4<((G

y = 3
√

2(x − 2)2(5 − x)

6) N3= ;$)4<(( y = x
3−9x

2

4 + 6x− 9 %#,.1-*( %,3),1 (--31>,.&)(1 ( %,-*#,(*/
O#&;(47
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1) +,-*&.(*/ $0&.)1)(1 ),02&3( 4 40(.,5 y = 2x + 1
x
. *,641 x0 = 17

2) 8,4&9&*/: 6*, ;$)4<(= y = −
√

x4 − x2
$>,.31*.,#=1* $#&.)1)(?

xyy′ − y2 = x4
: ( )&5*( 9)&61)(1 y′(2)7

3) @&5*( 9)&61)(1 >(;;1#1)<(&3& ;$)4<(( ABCD . *,641 x0 = 1: 1-3(
y =

√
3 + x2 − x ln(x +

√
3 + x2)

4) E--31>,.&*/ )& F4-*#12$2 ;$)4<(?G y = ln x

x+2 + 1
5) @&5*( )& ,*#1941 HPQ:R K )&(L,3/M11 ( )&(21)/M11 9)&61)(= ;$)4<((G

y = 4x

4+x2

6) N3= ;$)4<(( y = x
2(x−4)2

16 %#,.1-*( %,3),1 (--31>,.&)(1 ( %,-*#,(*/ O#&;(47
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1) +,-*&.(*/ $0&.)1)(1 4&-&*13/),5 4 40(.,5 y = x
2

10 + 3 . *,641 x0 = 27
2) 8,4&9&*/: 6*, ;$)4<(= y = 3x − x cos x $>,.31*.,#=1* $#&.)1)(?

xy′ = y + x2 sin x : ( )&5*( 9)&61)(1 y′(0)7
3) @&5*( 9)&61)(1 >(;;1#1)<(&3& ;$)4<(( ABCD . *,641 x0 =

√
2 : 1-3(

y = x arcsin 1
x

+ ln(x
√

x2 − 1)
4) E--31>,.&*/ )& F4-*#12$2 ;$)4<(?G y = 2 ln x

x−4 − 3
5) @&5*( )& ,*#1941 H I:Q K )&(L,3/M11 ( )&(21)/M11 9)&61)(= ;$)4<((G

y = 4 − x − 4
x2

6) N3= ;$)4<(( y = − (x+1)2(x−3)2

16 %#,.1-*( %,3),1 (--31>,.&)(1 ( %,-*#,(*/

O#&;(47
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1) +,-*&.(*/ $0&.)1)(1 4&-&*13/),5 4 40(.,5 y = 3x−2x
3

3 . *,641 x0 = 17

2) 8,4&9&*/: 6*, ;$)4<(= y = xe
−x

2

2
$>,.31*.,#=1* $#&.)1)(? xy′ = (1 − x2)y

: ( )&5*( 9)&61)(1 y′(0)7
3) @&5*( 9)&61)(1 >(;;1#1)<(&3& ;$)4<(( ABCD . *,641 x0 = −1: 1-3(
y = xarctg x − ln

√
1 + x2

4) E--31>,.&*/ )& F4-*#12$2 ;$)4<(?G y = 2 ln x

x+1 − 1
5) @&5*( )& ,*#1941 H I:J K )&(L,3/M11 ( )&(21)/M11 9)&61)(= ;$)4<((G

y = 2
√

x − 1 − x + 2
6) N3= ;$)4<(( y = (x + 1)2(x− 1)2 %#,.1-*( %,3),1 (--31>,.&)(1 ( %,-*#,(*/
O#&;(47
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1) +,-*&.(*/ $0&.)1)(1 ),02&3( 4 40(.,5 y = 8 4
√

x − 70 . *,641 x0 = 167

2) 8,4&9&*/: 6*, ;$)4<(= y = xe
−x

2

2
$>,.31*.,#=1* $#&.)1)(? xy′ = (1 − x2)y

: ( )&5*( 9)&61)(1 y′(0)7

3) @&5*( 9)&61)(1 >(;;1#1)<(&3& ;$)4<(( ABCD . *,641 x0 = 3: 1-3( y = 3

√

x+2
x−2

4) E--31>,.&*/ )& F4-*#12$2 ;$)4<(?G y = −e
−2x−4

2x+4
5) @&5*( )& ,*#1941 H S:T K )&(L,3/M11 ( )&(21)/M11 9)&61)(= ;$)4<((G

y = 3
√

2(x + 1)2(8 − x) − 1
6) N3= ;$)4<(( y = 3x2 − 2 − x3

%#,.1-*( %,3),1 (--31>,.&)(1 ( %,-*#,(*/

O#&;(47
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1) +,-*&.(*/ $0&.)1)(1 ),02&3( 4 40(.,5 y = x2 − 32 + 8
√

x . *,641 x0 = 47
2) 8,4&9&*/: 6*, ;$)4<(= y = 5e−2x + e

x

3 $>,.31*.,#=1* $#&.)1)(? y′ + 2y = ex

: ( )&5*( 9)&61)(1 y′(0)7
3) @&5*( 9)&61)(1 >(;;1#1)<(&3& ;$)4<(( ABCD . *,641 x0 = −1: 1-3(

y = arccos x
2−1

x2
√

2

4) E--31>,.&*/ )& F4-*#12$2 ;$)4<(?G y = 3 − 3 ln x

x+4
5) @&5*( )& ,*#1941 HPR:J K )&(L,3/M11 ( )&(21)/M11 9)&61)(= ;$)4<((G

y = 3
√

2(x + 1)2(x − 2)
6) N3= ;$)4<(( y = 12x2 − 8x3 − 2 %#,.1-*( %,3),1 (--31>,.&)(1 ( %,-*#,(*/
O#&;(47

J
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1) +,-*&.(*/ $0&.)1)(1 ),02&3( 4 40(.,5 y = 2x2 + 3 . *,641 x0 = −17
2) 8,4&9&*/: 6*, ;$)4<(= y = 3

√
x − lnx − 1 $>,.31*.,#=1* $#&.)1)(?

lnx + y3 − 3xy2y′ = 0 : ( )&5*( 9)&61)(1 y′(1/e)7
3) @&5*( 9)&61)(1 >(;;1#1)<(&3& ;$)4<(( ABCD . *,641 x0 = π/4 : 1-3(

y = ln tg x

2 − x

sin x

4) E--31>,.&*/ )& F4-*#12$2 ;$)4<(?G y = ln x

x+2 + 1
5) @&5*( )& ,*#1941 HIJ:J K )&(L,3/M11 ( )&(21)/M11 9)&61)(= ;$)4<((G

y = 2(x2+3)
x2−2x+5

6) N3= ;$)4<(( y = 2 − 12x2 − 8x3
%#,.1-*( %,3),1 (--31>,.&)(1 ( %,-*#,(*/

O#&;(47

 ! "1 !#$%%& "131 '&#(&)* "32

1) +,-*&.(*/ $0&.)1)(1 ),02&3( 4 40(.,5 y =
3
√

x2 − 20 . *,641 x0 = −87
2) 8,4&9&*/: 6*, ;$)4<(= y = 5

cosx
$>,.31*.,#=1* $#&.)1)(? y′ = ytg x : (

)&5*( 9)&61)(1 y′(π/3)7
3) @&5*( 9)&61)(1 >(;;1#1)<(&3& ;$)4<(( ABCD . *,641 x0 = 1 : 1-3(

y = x ln(x +
√

3 + x2) −
√

3 + x2

4) E--31>,.&*/ )& F4-*#12$2 ;$)4<(?G y = (4 − x)ex−3

5) @&5*( )& ,*#1941 HIP:Q K )&(L,3/M11 ( )&(21)/M11 9)&61)(= ;$)4<((G

y = −2x(2x+3)
x2+4x+5

6) N3= ;$)4<(( y = 16x3 − 36x2 + 24x − 9 %#,.1-*( %,3),1 (--31>,.&)(1 (

%,-*#,(*/ O#&;(47
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1) +,-*&.(*/ $0&.)1)(1 ),02&3( 4 40(.,5 y = x
2−3x+6

x2 . *,641 x0 = 37

2) 8,4&9&*/: 6*, ;$)4<(= y = −
√

2
x2 − 1 $>,.31*.,#=1* $#&.)1)(?

1 + y2 + xyy′ = 0 : ( )&5*( 9)&61)(1 y′(1)7
3) @&5*( 9)&61)(1 >(;;1#1)<(&3& ;$)4<(( ABCD . *,641 x0 = 2π : 1-3(

y = 2x + ln(sinx + 2 cos x)

4) E--31>,.&*/ )& F4-*#12$2 ;$)4<(?G y = e
2x−2

2x−2
5) @&5*( )& ,*#1941 HR7STPK )&(L,3/M11 ( )&(21)/M11 9)&61)(= ;$)4<((G

y = 8x + 4
x2 − 15

6) N3= ;$)4<(( y = 2x3 + 3x2 − 5 %#,.1-*( %,3),1 (--31>,.&)(1 ( %,-*#,(*/
O#&;(47
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1) +,-*&.(*/ $0&.)1)(1 4&-&*13/),5 4 40(.,5 y = x
5+1

x4+1 . *,641: x0 = 17
2) 8,4&9&*/: 6*, ;$)4<(= y = tg ln(3x) $>,.31*.,#=1* $#&.)1)(?

(1 + y2)dx = xdy : ( )&5*( 9)&61)(1 y′(1/3)7
3) @&5*( 9)&61)(1 >(;;1#1)<(&3& ;$)4<(( ABCD . *,641 x0 = −1/2

√
2 : 1-3(

y = tg (2 arccos
√

1 − 2x2)
4) E--31>,.&*/ )& F4-*#12$2 ;$)4<(?G y = 3 ln x

x−3 − 1
5) @&5*( )& ,*#1941 H Q:U K )&(L,3/M11 ( )&(21)/M11 9)&61)(= ;$)4<((G

y = 4 − x − 4
x2

6) N3= ;$)4<(( y = (2x + 1)2(2x − 1)2 %#,.1-*( %,3),1 (--31>,.&)(1 (

%,-*#,(*/ O#&;(47
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1) +,-*&.(*/ $0&.)1)(1 4&-&*13/),5 4 40(.,5 y = x
5+1

x4+1 . *,641: x0 = 17

2) 8,4&9&*/: 6*, ;$)4<(= y = 2 sin x

x
+ cos x $>,.31*.,#=1* $#&.)1)(?

x(sin x)y′ + (sinx − x cos x)y = sin x cos x − x : ( )&5*( 9)&61)(1 y′(π)7
3) @&5*( 9)&61)(1 >(;;1#1)<(&3& ;$)4<(( ABCD . *,641 x0 = 2/

√
3: 1-3(

y = x(4 − x2) + 4 arcsin x

2
4) E--31>,.&*/ )& F4-*#12$2 ;$)4<(?G y = ln x+6

x
− 1

5) @&5*( )& ,*#1941 HIP:U K )&(L,3/M11 ( )&(21)/M11 9)&61)(= ;$)4<((G

y = 3
√

2x2(x − 6)

6) N3= ;$)4<(( y = x(12−x
2)

8 %#,.1-*( %,3),1 (--31>,.&)(1 ( %,-*#,(*/ O#&;(47
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